QON‘ ECT Q-N12 ltem code: 03QNI12

POS. ID Item code Description Quantity
1 04721007 Anvil M12 1
2 04123051 Locknut 6
3 04123002 Blind nut 1
4 04123003 Rubber ring 1
5 04123001 Pedestal 1
6 04123033 Mandrel M12 1
7 04123005 Bearing holder 1
8 04F00017 Bearing 1
9 04123007 Pad 1
10 04721004 Mandrel assembly 1
1 04123006 Spring 1
12 04123004 Replace cover 1
13 04721001 Lower handle assembly 1
14 04721002 Front sleeve 1
15 04721003 Upper handle assembly 1
16 04F60501 Hexagon slotted nut M8 1
17 04F60163 Pin 2.6x14 1
18 04123011 Knob seat 1
19 04F60500 Inner hex. cyl. head screw M4x30 3
20 04L60033 Planet wheel 3
21 04721005 Planet wheel seat components 1
22 04z21 Internal gear assembly 1
23 04123016 Knob 1
24 04120958 Right handle sleeve RAL9005 1
25 04120959 Left handle sleeve RAL5018 1
26 04721055 Anvil M4 1
27 04721054 Anvil M5 1
28 04721053 Anvil M6 1
29 04721052 Anvil M8 1
30 04721051 Anvil M10 1

1-3 qonnect-fasteners.com



QON‘ ECT Q-N12 ltem code: 03QNI12

POS. ID Item code Description Quantity
30 04721051 Anvil M10 1
31 04123038 Mandrel M4 1
32 04123037 Mandrel M5 1
33 04123036 Mandrel M6 1
34 04123035 Mandrel M8 1
35 04123034 Mandrel M10 1
36 04123042 Rivetbolt puller M5 1
37 04123041 Rivetbolt puller M6 1
38 04123040 Rivetbolt puller M8 1

2-3 qonnect-fasteners.com



QON‘ ECT Q-N12 ltem code: 03QN12

38

3-3 qonnect-fasteners.com



